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Note : In the following questions two or more options may be correct.

1. Rate law cannot be determined from balanced chemical equation if _______.

(i) reverse reaction is involved.

(ii) it is an elementary reaction.

(iii) it is a sequence of elementary reactions.

(iv) any of the reactants is in excess.
2.Which of the following statements are in accordance with the Arrhenius

equation?

(i) Rate of a reaction increases with increase in temperature.

(ii) Rate of a reaction increases with decrease in activation energy.

(iii) Rate constant decreases exponentially with increase in temperature.

(iv) Rate of reaction decreases with decrease in activation energy.

3. Which of the following statements are applicable to a balanced chemicalequation of an elementary reaction?
(i) Order is same as molecularity.

(ii) Order is less than the molecularity.
(iii) Order is greater than the molecularity.

(iv) Molecularity can never be zero.
4. For a complex reaction ______________
(i) order of overall reaction is same as molecularity of the slowest step.
(ii) order of overall reaction is less than the molecularity of the slowest step.
(iii) order of overall reaction is greater than molecularity of the slowest step.

(iv) molecularity of the slowest step is never zero or non interger.

5. During decomposition of an activated complex.

(i) energy is always released
(ii) energy is always absorbed
(iii) energy does not change

(iv) reactants may be formed

Short Answers Type Question
1. State a condition under which a bimolecular reaction is kinetically first order
reaction.

2. Write the rate equation for the reaction 2A + B → C if the order of the reactionLis zero.
3. For which type of reactions, order and molecularity have the same value?

4. In a reaction if the concentration of reactant A is tripled, the rate of reaction
    becomes twenty seven times. What is the order of the reaction?
5.For a zero order reaction will the molecularity be equal to zero? Explain.
